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1. Which of the following statement(s) is (are) true? 
I) The real rate of interest is determined by the supply and demand for funds.
II) The real rate of interest is determined by the expected rate of inflation.
III) The real rate of interest can be affected by actions of the Fed.
IV) The real rate of interest is equal to the nominal interest rate plus the expected rate of inflation. 
A. I and II only.
B. I and III only.
C. III and IV only.
D. II and III only.
E. I, II, III, and IV only
2. . If the annual real rate of interest is 2.5% and the expected inflation rate is 3.7%, the nominal rate of interest would be approximately 
A. 3.7%.
B. 6.2%.
C. 2.5%.
D. -1.2%.
E. none of the above.
3. You purchased a share of stock for $20. One year later you received $1 as dividend and sold the share for $29. What was your holding period return? 
A. 45%
B. 50%
C. 5%
D. 40%
E. none of the above
 You have been given this probability distribution for the holding period return for KMP stock:
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 4. What is the expected holding period return for KMP stock? 
A. 10.40%
B. 9.32%
C. 11.63%
D. 11.54%
E. 10.88% 
5. What is the expected standard deviation for KMP stock? 
A. 6.91%
B. 8.13%
C. 7.79%
D. 7.25%
E. 8.85%
6. Toyota stock has the following probability distribution of expected prices one year from now:
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If you buy Toyota today for $55 and it will pay a dividend during the year of $4 per share, what is your expected holding period return on Toyota? 
A. 17.72%
B. 18.89%
C. 17.91%
D. 18.18%
E. None of the above
7. Your Certificate of Deposit will mature in one week and you are considering how to invest the proceeds. If you invest in a 30-day CD the bank will pay you 4%. If you invest in a 2-year CD the bank will pay you 6% interest. Which option would you choose? 
A. the 30-day CD, no matter what you expect interest rates to do in the future
B. the 2-year CD, no matter what you expect interest rates to do in the future
C. the 30-day CD if you expect that interest rates will fall in the future
D. the 2-year CD if you expect that interest rates will fall in the future
E. You would be indifferent between the 30-day and the 2-year CDs.

8. Over the past year you earned a nominal rate of interest of 3.6 percent on your money. The inflation rate was 3.1 percent over the same period. The exact actual growth rate of your purchasing power was 
A. 3.6%.
B. 3.1%.
C. 0.5%.
D. 6.7%.
E. none of the above
9. An investment provides a 0.78% return monthly, its effective annual rate is 
A. 9.36%.
B. 9.63%.
C. 10.02%
D. 9.77%
E. none of the above

10. If a portfolio had a return of 15%, the risk free asset return was 3%, and the standard deviation of the portfolio's excess returns was 34%, the risk premium would be _____. 
A. 31%
B. 18%
C. 49%
D. 12%
E. 29%

11. Which of the following statements is (are) true? 
I) Risk-averse investors reject investments that are fair games.
II) Risk-neutral investors judge risky investments only by the expected returns.
III) Risk-averse investors judge investments only by their riskiness.
IV) Risk-loving investors will not engage in fair games. 
A. I only
B. II only
C. I and II only
D. II and III only
E. II, III, and IV only

12. In the mean-standard deviation graph, which one of the following statements is true regarding the indifference curve of a risk-averse investor? 
A. It is the locus of portfolios that have the same expected rates of return and different standard deviations.
B. It is the locus of portfolios that have the same standard deviations and different rates of return.
C. It is the locus of portfolios that offer the same utility according to returns and standard deviations.
D. It connects portfolios that offer increasing utilities according to returns and standard deviations.
E. none of the above.

13. A portfolio has an expected rate of return of 0.15 and a standard deviation of 0.15. The risk-free rate is 6 percent. An investor has the following utility function: U = E(r) - (A/2)σ2. Which value of A makes this investor indifferent between the risky portfolio and the risk-free asset? 
A. 5
B. 6
C. 7
D. 8
E. none of the above
14. According to the mean-variance criterion, which one of the following investments dominates all others? 
A. E(r) = 0.15; Variance = 0.20
B. E(r) = 0.10; Variance = 0.20
C. E(r) = 0.10; Variance = 0.25
D. E(r) = 0.15; Variance = 0.25
E. none of these is dominates the other alternatives.

15. Consider a risky portfolio, A, with an expected rate of return of 0.15 and a standard deviation of 0.15, that lies on a given indifference curve. Which one of the following portfolios might lie on the same indifference curve? 
A. E(r) = 0.15; Standard deviation = 0.20
B. E(r) = 0.15; Standard deviation = 0.10
C. E(r) = 0.10; Standard deviation = 0.10
D. E(r) = 0.20; Standard deviation = 0.15
E. E(r) = 0.10; Standard deviation = 0.20
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U = E(r) - (A/2)σ2, where A = 4.0.

16. Based on the utility function above, which investment would you select? 
A. 1
B. 2
C. 3
D. 4
E. cannot tell from the information given 
17. Which investment would you select if you were risk neutral? 
A. 1
B. 2
C. 3
D. 4
E. cannot tell from the information given

18. The variable (A) in the utility function represents the: 
A. investor's return requirement.
B. investor's aversion to risk.
C. certainty-equivalent rate of the portfolio.
D. minimum required utility of the portfolio.
E. none of the above.

19. Which of the following statements regarding the Capital Allocation Line (CAL) is false? 
A. The CAL shows risk-return combinations.
B. The slope of the CAL equals the increase in the expected return of a risky portfolio per unit of additional standard deviation.
C. The slope of the CAL is also called the reward-to-volatility ratio.
D. The CAL is also called the efficient frontier of risky assets in the absence of a risk-free asset.
E. Both A and D are true.

20. An investor invests 30 percent of his wealth in a risky asset with an expected rate of return of 0.13 and a variance of 0.03 and 70 percent in a T-bill that pays 6 percent. His portfolio's expected return and standard deviation are __________ and __________, respectively. 
A. 0.114; 0.128
B. 0.087;0.063
C. 0.295; 0.125
D. 0.081; 0.052
E. none of the above

21. A portfolio that has an expected outcome of $115 is formed by 
A. investing $100 in the risky asset.
B. investing $80 in the risky asset and $20 in the risk-free asset.
C. borrowing $43 at the risk-free rate and investing the total amount ($143) in the risky asset.
D. investing $43 in the risky asset and $57 in the riskless asset.
E. Such a portfolio cannot be formed.

22. Consider a T-bill with a rate of return of 5 percent and the following risky securities: 
Security A: E(r) = 0.15; Variance = 0.04
Security B: E(r) = 0.10; Variance = 0.0225
Security C: E(r) = 0.12; Variance = 0.01
Security D: E(r) = 0.13; Variance = 0.0625
From which set of portfolios, formed with the T-bill and any one of the 4 risky securities, would a risk-averse investor always choose his portfolio? 
A. The set of portfolios formed with the T-bill and security A.
B. The set of portfolios formed with the T-bill and security B.
C. The set of portfolios formed with the T-bill and security C.
D. The set of portfolios formed with the T-bill and security D.
E. Cannot be determined.

23. If you want to form a portfolio with an expected rate of return of 0.10, what percentages of your money must you invest in the T-bill, X, and Y, respectively if you keep X and Y in the same proportions to each other as in portfolio P? 
A. 0.25; 0.45; 0.30
B. 0.19; 0.49; 0.32
C. 0.32; 0.41; 0.27
D. 0.50; 0.30; 0.20
E. cannot be determined

24. The change from a straight to a kinked capital allocation line is a result of: 
A. reward-to-volatility ratio increasing.
B. borrowing rate exceeding lending rate.
C. an investor's risk tolerance decreasing.
D. increase in the portfolio proportion of the risk-free asset.
E. none of the above.
 Your client, Bo Regard, holds a complete portfolio that consists of a portfolio of risky assets (P) and T-Bills. The information below refers to these assets.
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25. What is the expected return on Bo's complete portfolio? 
A. 10.32%
B. 5.28%
C. 9.62%
D. 8.44%
E. 7.58% 
26. What is the standard deviation of Bo's complete portfolio? 
A. 7.20%
B. 5.40%
C. 6.92%
D. 4.98%
E. 5.76% 
27. What is the equation of Bo's Capital Allocation Line? 
A. E(rC) = 7.2 + 3.6 * Standard Deviation of C
B. E(rC) = 3.6 + 1.167 * Standard Deviation of C
C. E(rC) = 3.6 + 12.0 * Standard Deviation of C
D. E(rC) = 0.2 + 1.167 * Standard Deviation of C
E. E(rC) = 3.6 + 0.857 * Standard Deviation of C

 

28. What are the proportions of Stocks A, B, and C, respectively in Bo's complete portfolio? 
A. 40%, 25%, 35%
B. 8%, 5%, 7%
C. 32%, 20%, 28%
D. 16%, 10%, 14%
E. 20%, 12.5%, 17.5%

 You invest $100 in a risky asset with an expected rate of return of 0.11 and a standard deviation of 0.21 and a T-bill with a rate of return of 0.045.
29. What percentages of your money must be invested in the risky asset and the risk-free asset, respectively, to form a portfolio with an expected return of 0.13? 
A. 130.77% and -30.77%
B. -30.77% and 130.77%
C. 67.67% and 33.33%
D. 57.75% and 42.25%
E. cannot be determined 
30. What percentages of your money must be invested in the risk-free asset and the risky asset, respectively, to form a portfolio with a standard deviation of 0.08? 
A. 301% and 69.9%
B. 50.5% and 49.50%
C. 60.0% and 40.0%
D. 38.1% and 61.9%
E. cannot be determined

31. A portfolio that has an expected outcome of $114 is formed by 
A. investing $100 in the risky asset.
B. investing $80 in the risky asset and $20 in the risk-free asset.
C. borrowing $46 at the risk-free rate and investing the total amount ($146) in the risky asset.
D. investing $43 in the risky asset and $57 in the riskless asset.
E. Such a portfolio cannot be formed.

 

32. The slope of the Capital Allocation Line formed with the risky asset and the risk-free asset is equal to 
A. 0.4667.
B. 0.8000.
C. 0.3095.
D. 0.41667.
E. Cannot be determined.

33. You are evaluating two investment alternatives. One is a passive market portfolio with an expected return of 10% and a standard deviation of 16%. The other is a fund that is actively managed by your broker. This fund has an expected return of 15% and a standard deviation of 20%. The risk-free rate is currently 7%. Answer the questions below based on this information. 
a. What is the slope of the Capital Market Line?
b. What is the slope of the Capital Allocation Line offered by your broker's fund?
c. Draw the CML and the CAL on one graph.
d. What is the maximum fee your broker could charge and still leave you as well off as if you had invested in the passive market fund? (Assume that the fee would be a percentage of the investment in the broker's fund, and would be deducted at the end of the year.)
e. How would it affect the graph if the broker were to charge the full amount of the fee? 
a. The slope of the CML is (10 - 7)/16 = 0.1875.
b. The slope of the CAL is (15 - 7)/20 = 0.40.
c. On the graph, both the CML and the CAL have an intercept equal to the risk-free rate (7%). The CAL, with a slope of 0.40, is steeper than the CML, with a slope of 0.1875.
d. To find the maximum fee the broker can charge, the equation (15 - 7 - fee)/20 = 0.1875 is solved for "fee". The resulting fee is 4.25%.
e. If the broker charges the full amount of the fee, the CAL's slope would also be 0.1875, so it would rotate down and be identical to the CML.
Feedback: This question tests both the application of CAL/CML calculations and the concepts involved.

34. The standard deviation of a portfolio of risky securities 
A. the square root of the weighted sum of the securities' variances.
B. the square root of the sum of the securities' variances.
C. the square root of the weighted sum of the securities' variances and covariances.
D. the square root of the sum of the securities' covariances.
E. none of the above.

35. The efficient frontier of risky assets is 
A. the portion of the investment opportunity set that lies above the global minimum variance portfolio.
B. the portion of the investment opportunity set that represents the highest standard deviations.
C. the portion of the investment opportunity set which includes the portfolios with the lowest standard deviation.
D. the set of portfolios that have zero standard deviation.
E. both A and B are true.
36.  Consider the following probability distribution for stocks A and B:
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36. The coefficient of correlation between A and B is 
A. 0.47.
B. 0.60.
C. 0.58
D. 1.20.
E. none of the above.

37. If you invest 40% of your money in A and 60% in B, what would be your portfolio's expected rate of return and standard deviation? 
A. 9.9%; 3%
B. 9.9%; 1.1%
C. 11%; 1.1%
D. 11%; 3%
E. none of the above
38. Let G be the global minimum variance portfolio. The weights of A and B in G are __________ and __________, respectively. 
A. 0.40; 0.60
B. 0.66; 0.34
C. 0.34; 0.66
D. 0.76; 0.24
E. 0.24; 0.76

39. Which of the following portfolio(s) is (are) on the efficient frontier? 
A. The portfolio with 20 percent in A and 80 percent in B.
B. The portfolio with 15 percent in A and 85 percent in B.
C. The portfolio with 26 percent in A and 74 percent in B.
D. The portfolio with 10 percent in A and 90 percent in B.
E. A and B are both on the efficient frontier.

40. Which of the following portfolio(s) is (are) most efficient? 
A. 45 percent in A and 55 percent in B.
B. 65 percent in A and 35 percent in B.
C. 35 percent in A and 65 percent in B.
D. A and B are both efficient.
E. A and C are both efficient.

41. 김중앙씨는 2007년 연초에 ㈜ 흑석산업의 주식 100주를 주 당 50,000원에 margin을 취하여 매수하였다. 매수 당시의 initial margin은 50%이었으며 차입액에 대한 이자율은 10%이다. 김중앙씨는 이 거래와 관련하여 2007년 동안 한번도 margin call 상태에 처해본 적이 없다고 한다. ㈜ 흑석산업은 2007년 3월 말 주당 100원의 배당을 실시하였다.

(a) 2007년 말 김중앙씨가 보유하고 있던 ㈜ 흑석산업의 주식을 주 당 60,000원에 매도하였다면 김중앙씨의 투자 수익률은 얼마인가?

(b) 김중앙씨가 margin을 취하지 않고 현금으로 주식을 매수하였다면 동일한 환경 하에서 투자 수익률을 계산하시오.
42. 세 종류의 자산 A, B, C의 수익률과 관련하여 다음과 같은 정보가 알려져 있다.

	
	상관관계

	자산
	표준편차
	A
	B
	C

	A
	12%
	1.00
	-0.80
	0.20

	B
	15%
	-0.80
	1.00
	-0.20

	C
	10%
	0.20
	-0.20
	1.00


(a) 자산 A에 40,000원, 자산 B에 160,000원을 투자하여 포트폴리오를 구성하는 경우 포트폴리오의 수익률의 표준편차를 구하시오.

(b) 자산 A와 자산 C를 이용하여 구성된 포트폴리오 중 수익률의 표준편차가 가장 작은 포트폴리오는 무엇인가? 즉, 수익률 표준편차가 가장 작은 포트폴리오에서 자산 A와 C가 차지하는 비중을 구하시오.
